When both firms charge $4, each will make a profit of $12. If Firm 1 charges $4 and Firm 2 charges $6, Firm 1 will make $20 and Firm 2 $4. 

                                                                     Firm 1
	Competitive Strategy
	Charge $4
	Charge $6

	Up
	$12, $12
	$20, $4

	Down
	$4, $20
	$16, $16


              Firm 2
1) Is there a dominant strategy for Firm 1? If so, what is it?  

2) Is there a dominant strategy for Firm 2? If so, what is it? 

3) Is there Nash equilibrium? If so, what is it? 







